Light Duty Mini-till Seed Drill
Operator’s Parts Breakdown

REV. 02/2020




BULLY
Mini-Till Seeder

D) 0 T on 38 128 135138 123 115 16




NTD140 & 198
Mini-Till Seeder

Ref

13

14

15
16
18
19
23

26
27
28
29
30
31
32
33
34
35

38
39
40

41
44
45
46

47
48
49
53

Part #
SA4001-55
SA4001-78
SA1003-55
SA1003-78
SA1001-55
SA1001-78
DL5003
DL7001-L
DL7001-S
SA10001-55
SA10001-78
DL1005
B305222
DL2006
DL2003
SA2005
SA2005K
BM061012
BM061016
BM0812535
LNM08125
LNM0610
DL7002
BM061020
DL7005
DL1006

DL7004A
DL7004B

SA5001
SA5002
SA5000-55
SA5000-78
SA5003
SA6001
SA6002
SA6003/A
FW12
LW12
NM12175
SA6004

SA6005
SA6008
SA6009

Description

Frame for BULLY NTD140

Frame for BULLY NTD198
Hopper for BULLY NTD140
Hopper for BULLY NTD198
Hopper Lid for SAYA-55
Hopper Lid for SAYA-78

Lid Piston

Seed cup Distribution Box- Large Seed
Seed cup Distribution Box- Small Seed
Hex Seed box Shaft for BULLY NTD140
Hex Seed box Shaft for SAYA-78
Bearing for Assembly Drive Shaft
Bearing- B305222

Drive Sprocket Z26

Drive Sprocket 740

Handle Assy

Knob for locking Handle Adjustment
Bolt- M6 x 1.0 x 12

Bolt- M6 x 1.0 x 16

Bolt- M8 x 1.25 x 35

Lock Nut- M8 x 1.25

Lock Nut- M6 x 1.0

Seed Cup Funne

Bolt- M6 x 1.0 x 20

Pointer

Cleanout Spout

Right to Left

(Front) Left to

Right (Rear)

Torsion Lateral Bracket

Torsion Bar Center Support

Torsion Bar for BULLY NTD140
Torsion Bar for BULLY NTD198
Torsion Bar Clamp Bracket

Disc Support Bracket Long (15 1/4")
Disc Support Bracket Short (9 3/4")
Disc Support- V-Bolt M12 x 1.75
Flat Washer- M12

Lock Washer- M12

Nut- M12 x 1.75

Disc

Disc Bearing Support

Bearing Hub Assembly

End Cap

[EY




BULLY
Mini-Till Seeder

0 non B

128 135138 123 15 116




NTD140 & 198
Mini-Till Seeder

Ref
47
48
49
53
57
62
68
70
71
71
72
84
85
86
87

98
98
99
98
100
101
102
103
103
104
104
105
107
108
110
116
117
121
122
123
124
126
127
128

Part #
SA6004
SA6005
SA6008
SA6009
DL6007
SA6006
SA7002
SA7003
SA7004
SA7005
SA8003
SA8000
SA8001
SA8005
SA8004
LNM1620
SA4002-55-L
SA4002-78-L

SA4002-55-R
SA4002-78-R

SA4003
DL8003
DL8008
SA9001-55
SAS001-78
SA9006-55
SAS006-78
DL11011
BM0812550
FWO08
DL8005
BM0812540
DL11013
DL10012
DL3005A
DL5005B
SA8006
BM121535

NM1215
BM1215100

Description

Disc

Disc Bearing Support

Bearing Hub Assembly

End Cap

External Scraper Kit

Internal Scraper Kit

Disc Spring- Support assembly
V-Bolt- M12 x 1.75

Top Coulter Support Bracket- Left
Top Coulter Support Bracket- Right
Coulter Bearing Housing

Coulter Support Arm

Coulter Support Bracket

Coulter Spring Arm

Coulter Spring

Self-Locking Nut- M16 x 2.0
A-Frame for BULLY NTD140
A-Frame for BULLY NTD198
A-Frame for BULLY NTD140
A-Frame for BULLY NTD198

A Frame- Support (Back)

Bracket - Roller Arm

Roller Arm

Drive Roller - BULLY NTD140
Drive Roller - BULLY NTD198
Scraperboard Rod - BULLY NTD140
Scraperboard Rod - BULLY NTD198
Spring-Loaded Scraperboard Assy.
Bolt- M8 x 1.25 x 50

Flat Washer- M8

Small Sprocket Shaft

Bolt- M8 x 1.25 x 40

U Bolt

Dust Roller Cap

Drive Sprocket 212

Drive Sprocket Z11

U Bolt

Bolt- M12 x 1.5 x35

Nut- M12 x 1.5

Bolt- M12 x 1.5 x100

Qty
20
20
40
20
10
10
10
22
10
10
10
10
10
10

10

O O R KHEH HF - NPMMNREHER -

[
o

H = NN NN

10
20
74
10




BULLY
Mini-Till Seeder

0 non B

128 135138 123 15 116




NTD140 & 198
Mini-Till Seeder

Item #
130
131

132
133
134A
134B
135
136
137
138
139
140
141
142

143
144

Part #
BM202560
SA4004
DL4012
SA4005
SA5004
DL8001
CP3x25
SA3004A
SA3004A
SA10005
SA10004
BM2025110
SA9002
SA9003
DL3002

SA9004
SA9005

Description

Bolt- Bottom- M20 x 2.5 x 60
3 Point Hitch Pins CAT. 2
Shoulder Pin- M20 x 115

3 Point Hitch Pins CAT. 1
Adjustment Wheel

Adjustment Rod Shoulder Pin- M16 x 70

Cotter Pin- M3 x 25

Chain (#30)- Front Hopper

Chain (#40)- Rear Hopper

Right Chain Cover

Left Chain Cover

Bolt- Top Hitch- M20 x 2.5 x 110
Adjustment Shaft Wheel
Adjustment Shaft

Seed Hose (Not Shown)

Seed Tube Bellows (Not Shown)
Tube wire clamps (Not Shown)

Qty




FARM IMPLEMENTS Pty Ltd

12 Tarmac Way
Pakenham Victoria
AUSTRALIA 3810

+61 3 9706 5166
sales@farmimplements.com.au

www.farmimplements.com.au





